BT RZREOZTHRKR
THi31FE4R XREREXHE

XHA AR I X5 +%8
148 B AFEEGEXFRBUVI/NEESZR TR DRY = 10,000
20H|EIREEHEERERTROERS = 10,000
26H | FRS1FEEE G RRETSTHRRESDBER = 5,000

85t 3H% 25,000
SHTHESH XBREXIHE

XHA AR X5 +%8
148 | REZEREFTERHEBESRESRDBES = 5,000
17B[MEIILOKEHEE 28 10,000
23 H[AIAETBAILER EREESRERDEHRE = 5,000
26| IDANEHLSVEEAR 28 5,000
278 |EET B FETUIEASBRE = 7,000
SBOHBEISHKRERTEDERR = 5,000
30H|EE/ B R BALEREAAZTBRERDERE = 5,000
31H|fEEt A LB TR B SRS ESRBESROERREBE = 8,000

&5t 8% 55,000
SHxTE6H XBEIHE
XHH AR X5 &%
2H(FEOLECERESENE =4 5,000
S5H[FEKEZItERFENXITEENSE Zhh 5,000
SH[N\TA - D45—3FIRI—IEREEEEXBDODEDRE ZDih 30,000
12BN BELREBOEEEER AT B 20,000
148 | ETIBEASTAMRESHITEETHESROBES = 5,000
18H|IBEHNNAEZEELHLE = 10,000
21H|REEEXERESTEHRESRDERS = 5,000
25H | ERERNESETBRHEEE - REBRDEHRES = 7,000
it 8% 87,000
SHTETR XBFEEZIHE
XHH AR X5 &%
SH[ZBEAZEEESRESRDERE = 10,000
230 |ZHFENEEERRE Zhh 3,000
it 2% 13,000
SHTE8R RFEEZHE
XHH AR X5 &%
2H|EV B XRETNSENE i=3:1] 10,000
6H|[REREE-FTNESERSEENSE i=3:1] 3,000
11| E&TEMERAZARY KE = 5,000
148 |hE;TEMXIERBY RS = 5,000
22H(ZRBEMELTHFAENDERREBS = 10,000
26H | FV4ANERAEBXESE®EEBHNE(9H28HR) = 10,000
55t 64 43,000
SHTEIR RBREZHE

*HH AE X5 &%
14H([2019RBICO =T HISTEEREBYIBRE = 8,000
220 |HMRERERDEHRR = 10,000




258 [2EREZERAR—Y RS HIBHRAL I B 10,000
83t 3% 28,000
SHTE10A XBWEXZHFE
XHH AR X5 +%8
2B XS ZHEmAE L I —BEEKTRESERDRERS = 10,000
178 |BBEEZEHELETEERN iR 15,500
20H [ EEigERESHEE = 10,000
22H|/EHEXAEZEZHOIR = 10,000
83t 4% 45,500
SHxTEFE11A XBWEXIHFE
XHH AE X5 +%8
18| EHREEH Bt 10,000
85t 1#® 10,000
SHxTEFE12A XBWEXZHFE
XHH AE = +%8
2HIETRAZFEREF XIS = 5,000
SH|TESESE ($H2F1A8HA) = 10,000
11 B[FEDER/\L—KEHIBHEGLY B 10,000
17H|EFERESEME 28 5,000
20H | EER Gila 27,610
85t 5% 57,610
SH2FE1A XEEZHEK
*HH oES X 4y &%
10H[EXFZESEHRS = 10,000
10H %‘E#mﬁiﬂlzﬁiéfém%iﬂmiﬁﬂ-mﬁiﬁféﬂmﬁélﬂﬁé = 7,000
17H|IEISFZERVERZRARKRERESREBIRE = 5,000
22H |BTEREEXRFE = 10,000
23H|FEV B ERBRTERESBRES = 7,000
24|/ ILEx— 3 inlEhHhbLERRRE = 3,000
S1HIZERERDESETIBTRBARS = 6,000
|3t 7H 48,000
S22 RFEEZHERK
*HH AE X5 &%
16H | ZEENESFERIEES B 10,000
20H[EH/INERESERDEES = 10,000
55t 2% 20,000
y=¥-11 432,110




